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Tokens Tokens Tokens
T|$S $S $S

Roses| 8 | 2 Roses Roses
Tulips| 8 2 Tulips Tulips
Daffodils| 2 | 1 Daffodils Daffodils
Orchids| 2 | 1 Orchids Orchids
Lilies| 1 | 1 Lilies Lilies
Gnomes Gnomes Gnomes
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Roses| 38 2
Tulips| 8 2 ™
Daffodils| 2 | 1
Orchids | 2 1 N
Lilies| 4 1
Gnomes —
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Fertilizer 5

Discard any number of
plant tiles from your
omposer to add that many]
fertilizer tokens to your
beds (Each flower in thi:l

bed matures one extra

step each round, remove

this when you harvest an

number o flunars from

the bed). Each bed may

nly have one fertilizer
token.

Harvester 2

Harvest one flower from
all flowering plants
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Spent Actions

Ready Actions
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Landscaper 4

ake one of the face up

landscape cards and/or
d any number of tokens
to your landscapes.

Pollinator 1

Take a seed from all
matching pairs of
flowering plants.

Each plant can only be
used in one pair.
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Recruiter 6

n a new worker and add
it to your spent workers
pool.

Seller 3

Sell any number of one
type of flower, the
flower sold 1s at its
base price, the next at
the base price minus 1
and so on.
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A dozen roses T
A B c c B A Speed
T
T
T
T
c c c c Cc c Daffodi ] fe
P: 4 $: 4 !
c (o c c c c

Gnome Gnome Gnome Gnome

B B c c B B enome | Gnome | Gnome || Gnome
N B c c B A TJITJITY|TJ]IT]ITJITYT

Garland
A B Cc Cc B A
B A B c c B Any 3 different

flowers
Cc B A B Cc C

P: 8 %: s

c c B A B ¢ speed || Speed || Speed | Speed
B c c B A B |paffodil paffodil paffodil paffodil
A B c c B A TITIT“TITITIT“T

Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil

Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil Daffodil



Garland T
c c A B c c
T
T
c c A B c c Any 3 different
flowers
A A A B A A Lily
P:. 8 $: 3
B B A B B B LUl Ll uly Ll
c c A B ¢ ¢ Ll Ly iy Ly
c c R 5 c c TITIT||TITITIT||T
Garland T
A B c c B A
T
T
B A B B A B Any 3 different
flowers T
T
Cc B A A B Cc
P:. 8 $: 8 !
c B A A B ¢ Gnome § Gnome § Gnome J§ Gnome
B A B B A B Gnome § Gnome J Gnome J§ Gnome
A B c c B A TIT|IT|T)T

Gnome M M Lily Lily Lily Lily Lily Lily

Lily Lily Lily Lily Lily Lily Lily Lily Lily Lily



Garland Garland Center Plece
Orchid
3/6/ Any 3 different || Any 8 different | 2 of the same | orchid
flowers flowers flower
9/12
Orchid
P. 8 $: 8 IP: 8 $: 3 JP: 2 §: 2
A anas 2on Large bunch [ Single Daffodil
Orchid
38 of 38 different orchid
2 / 5 / 6 roses types of flower 1 daffodil
8/11
orchid
P: 83 ¢$: 8 fIP: 58 $: 2 JP: 1 $: 1
allT a dozen all a dozen
Large bunch
roses roses orchid
1/4/ 6 roses 6 roses 3t)?p1;33 od}?ffor;’eenrt Orchid
7/10
Orchid
P: 83 $: 8 |IP: 8 $: 8 JP: 5 $: 2

Oorchid oOrchid oOrchid oOrchid orchid orchid oOrchid oOrchid

Center Plece Center Plece Center Plece Center Plece
orchid

2 of the same 2 of the same 2 of the same 2 of the same | orchid
flower flower flower flower

orchid

P: 2 $: 2 JP: 2 $: 2 jP: 2 $: 2 P: 2 $: 2




Single Daffodil || Single Daffodil § Single Daffodil

Single Rose

1 daffodil

1 daffodil

1 daffodil

1 Rose

P: 1 ¢§: 1

Single Rose

P: 1 ¢§: 1

Single Lily

P: 1 $: 1

Single Lily

P: 1 4§: 1

Single Orchid

1 Rose

1 Oorchid

P: 1 $: 1

Single Rose

Single Rose

Single Tulip

P: 1 $: 1

Single Tulip

1 Rose

1 Tullp

P: 1 ¢§: 1

Single Tulip

Single Tulip

Single Lily

P: 1 ¢§: 1

Single Lily

1 Tullp 1 Tulip 1 Lily 1 Lily
P: 12 $: 2 JP: 2 $: 12 jP: 2 $: 1 §P: 1 $: 1
Rose Rose Rose Rose Rose Rose Rose Rose

orchid

Rose

Rose

Rose

orchid

orchid

orchid

orchid

Rose

Rose

Rose

Rose



Single Orchid Single Orchid Single Orchid Small bunch
Rose
2 of 3 different] Tuli
1 Orchid 1 Orchid 1 Orchid types of floyer P
P: 1 ¢$: 12 IP: 2 $: 12 JP: 12 $: 1 |IP: 1 $: 1
Small bunch
2 of 38 different
types of flower
P: 1 ¢§: 1
Small bunch Wreath Wreath Wreath
Rose
6 flowers of at § 6 Tlowers of at || 6 flowers of at
2 s cp Tl entLeast 2 differentfleast 2 differentfleast 2 different| Rose
owe types types types
Rose
P: 1 $: 12 fIP: 2 $: 2 JP: 2 $: 2 |IP: 2 §: 2
Wreath
Rose Rose Rose Rose Tulip Tulip Tulip
6 flowers of at
least 2 different] Tullp | Tullp & Tullp Tulip @ Tuldp Tulip | Tullp
types
Tuldp  Tulip Tulip Tullp @ Tullp Tulip | Tulip
P: 2 §: 2
Tuldp  Tulip  Tulip Tuldp | Tulip Tullp  Tulip



